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This question hooklet is dit,rided into 
two sections - Section-A u11cl

Section-B. 
I6· &o:s-�-37 .,,_ 7o 4ffJRfid 'RR t,

·: M➔q � fll>;.efi• as mi c1i1 TTR" �
�-- :' \a,f;,4,?.f t, 35 � '# 3M' 'Ef>T

6. In Section-A, there are 

. . . '3'fR" # TR" � 35 'Ef>T eft 1-J,Rli?fH
wrrr, uc=ilcfi cf)" fffl! 1 aictr ™ITTr t,
$-tcf>l 3nf # $' fffi!' 3QHaf cf)(P1 
Tfff 0� "3ffr-Tf;fcfi 17 � Tfrf � 
{qcfit,,q 'f!iT ;;fh.t / m- � q;:r -# 
WW! 'q:;f / MM . tft Rc:#>U ¥"
$1$2➔?/ 'ffffi' q�ni 1·� I -11e1_=:1 
31m(" cfiT OMR �- � q 314),7

cl,�➔, 1RT t 3Fl,1P.1T' rrmm q� au"

�Jll.:t/ lWTT' I

70 objective type question.,, oul 
of-which any 35 questions are h 
be answered. If more thar 
35 questions are answered, ther. 
only first 35 will be.,r ewiluate4 
Each question carries ��+rk. Fq:

answering these darke� circl,

with blue I black ball pen agains 
the correct option on OMR Answe 
Sheet provided to you. Do not wi.

whitener I liquid. I blade I nai 
etc. on OMR Answer Sheel 

· otherwise the result will b
· treated invalid.

7. &Os -· 'Iii' q 20 ?fq' 3it/14 'RR 't I 7. In Section - B, there are 20 sho,

Jlf4ct, cf)" ft;rt:[ 2 *'1,;- RWfm=r t, f;r,,q ariswer type questions. Ea< 

?1 fq;.efj' 10 '!IRT cfiT TTfr �

J1f.la,J t , � ,:J/k1Rw w �

-q 6 eftd 3ri04 '!lR � �-t,

Jlf4cf, cf)" f&rr! s *'1,;- f.rqfm=r t, f;;r;:,it 

# flli..fl. 3 Jir-:rf c#,1 -� rn
a,P,a,4 t I https://www.bsebstudy.��� 

canying 2 marks, out of whi< 
any 10 questions are to I
answered. Apart from these, the 
are 6 long answer tY1 
questions, each carryi1 : 

5 marks, out of which a( 
3 questions are to be answere� 

• 

8. fcnm' W:f;R cf>" $H�IHcf> 3Qcn< 0I 'Ef>T 8. Use of any electronic appliances
WffeT �ofH4i c/Mrl t I strictly prohibited. 

-
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� - 3f / SECTIOII • A

a�P..t1o 'SIR / Objective Type Queatfona 

'"'" #sq, 1 � 70 'if7lr • RAA1 1IFf ct; mP.T TTR fil4'c-<t fw 7Tf! t /J,➔i w-· � 

mt t1 � mT iF1' 'l1ff mt fil¥N. lf;; OMR � 'ff �rl _"llif I t.;-1/'

35 'RRT 1fiT � fl 35 X J.= 35 

Question Nos. 1 to 70 have four options, out of which only one is correct. . . 

You have to mar� your selected option, on the . OMR ... Sheet. Answer any 

35 questions: 35x 1 = 35 

1. lP1'@J � �d� � � �, l1?f � � � -it!l�<li ��� d � � ?

2. 

· � 2 1frg • (B) • 3 �

(C) 1 � (D) 6 �

After how many months of pregnancy, do limbs and digits of

embzyo develop?

(A) 2 months- (B) 3 months

(C) 1 month (D) 6 months

� ffl� 

(D) Si�fttq; �

Which of the following secretes large amount of progesterone ? . 

(A) Graafian follicle (B) Corpus albicans

(C) Corpus luteum (D) Primary follicle
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3. �u-51�1{ � qi(�l(1_ � � cf))�lifil � � fbu � � ?

4. 

(A) � f4i{)l (cf))(l-41 ,�ll) (B) � ��sl

After ovulation the ovum is surrounded by a group of cells called 

(A) Corona radiata (B) 

(C) Granulosa cells (D)' 

�i.iR?, flst d -ij � � cf))�lifil ;'jt!J�ld t ?

�
�&31-4.ft (B) 

(C) �ljqi � wY 

Zopa pellucida 

Theca layer 

Sll�ftlifi � 

�111-4-31 

Which of the following ce�ls is haploid ? 

(A) . Oogonia . (B) Primary oocyte 

(C) · Secondary oocyte (D) .. Zygote

s. -� � TJ\l � TITT-fr., �-�-w1�t-1 t, � � �-i? ·

� ���20 (B) . SIIJl�ti4l

(C) <-4�{-fl (D) ft?ltqe �

A new c9ntraceptlve pill �hich is non-steroidal is referred as 

(A) LNG 20

(C) Saheli

(A) 1 · 1 %

(C) {-tll\:fJT 2%

(B) .Progestaset

(D) . Lippes loop

jB) 3·7% 

(D) 3%

• 
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What is the population growth rate of India as per 2001 census ?

7. 

8. 

(A) 1 · l %

(C) Approximately 2°/c,

(A) it<-il<.11s 375

. (C) -�tqij �

(B) 

(D) 

3·7% 

3%-
, 

JJ3) � � �:.20 

(D) · �-tt

-Which of the following--ll)Ds is hormone releasing ?. .

(A) Multiload 375 (B) LNG-20

(C) Lippes loop (D) Cu-T

�i,..�f&d -ij � �-lIT � tlt(-tQ, � �ffa � "ifR � � i· ?

___w- tlQ,..fQ, qiJ �tW<� siRt,Rt � t

(B) tltt4lt � 51Rtf_Rt q;r � �-ill�lf 4lO:tlt qTc?fl�-it � 

(C) Slfaffa q � � 11Htfl �- qf\o111t��q J�f{qtf..{ � i

(D} tlQ,�Q, � $fl H�'-fl � Slfaffa .l@q_ � i

Which of the following s�tements ts incorrect about DNA 

replication ? 

_(A) DNA replication is semi-conservative· 

(B) Main enzyme for DNA replication is DNA polymerase 

(C) Mutation appears due to error in replication

(D) Replication on both strands of DNA is continuous
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9. Ai.t�f&d ij ll � l(Jtl�if (1$ille'lifct Jil(((-1({ � 3fjH<14 � Jij{(�I� t ?

(A) "11(1(.f� qf(',fl�Jt (B) �l(Q,411, qfl-'ftqtJt I

Which of the following enzymes is responsible for transcription of 

· ribosomal RNA?

(A) RNA polymerase (B) RNA polymerase I

(C) RNA polymerase II (D) . RNA polymerase III

10. � 31ift;n � cf;l_� H<14 �����mar�,� cm cli) �

�f?

(A) �eR1'Q (B) .jiqg1fed

(C) � (P) .Pc.�12

Some amino acids are coded by more than one codon. Such code is

known as

(A) un�biguous

(C) universal • 

(B) degenerate/redundartt

(D) specific

11. � 3f�(i4 "q y�� �qqrt?

3} � �-Hifll('ti$tJf cf;l � H&➔

(B) q(&fiQ,Jf q;r � H&4

(C) �if44iitl � cfiT �- �&4

(D) �i('tv.feilHJt cfiT � M&4

f 24 / A/X�I-5009-(35/40) J 
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What is the role of y gene in lac operon ? 

(A) Codes for J3-galactosidase

(B) Codes for permease

(C). Codes for repressor gene· 

(D) Codes for transacetylase

12. 3<1-iftcft � Fch�ch �\4�-i "q'{ 3Timfto i?

13. 

(A) . �- Rlcbitt . J!"- gH-1itit<fi � Rl�H

Paleontological evidence is based on the study of 

(A) embryological development

. .(B) comparative anatomy • 

(C) fossils

(D) divergent evolut_ion

� � ti<,q..fl� � <:tlhft � ?

(A) Jiqe1tl Rlcb1e (8) � Pcic+;1e

ein-1ia< Rlcb,e (D) tf l�:tl..f(C) . 

What do analogous structures show ? 

I 119 I 

(A) Divergent evolution (B) Convergent evolution

14: 

(C) Parallel evolution (D) Saltation

Sli�Rt�rfecb T')T-:Ral � ·� 'cbiJ �-. ?

fr 

(C) 

18,000 cf'f ·� (B) 10,000 cf'f �

75,0QQq\f � (D) 40�ooocftf \cf
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When did pre-historic cave art develop? 

(A) 18,000 ye�rs ago (B) 1 0 ,000 years ago

(C) 75,000 years ago (D) 40,000 years ago

\'-l ch1 .� � ◄�(-14 "ff � �llfq4 � lITTfT � t ?

(A) �llfli4 B
12 (B) �a,fq..f A

�c (D) �z,fq4 B�

Amount of which vitamin increases after conversion of milk into 

card? 

(A) Vitamin B12

(C) Vitamin C '

(B) Vitamin A

'(D) Vitamin B
6

16. �i-iffll'&a ·-q -a � •cflt�(u 'ql � � � l6lf -ij 3t�cfis< 'kl�•, �

q.fl«tR=i..f � � c#it '?

(A) ��cf,)lie (B) q:flil).tk(

(C) �fq,cl)�ifiEt · (D) �ifilaflicle

Alexander Fleming discovered penicillin. while working on w_hich of 

the following bacteria ? 

(A) Streptococcus

(C) Staphylococcus

(A) st1 ll O."'

(C) q4'"1�.f

(B) Acetobacter

(D) Lactobacillus

(B) ��cfii,4-it

(0) �fl ..

I 24 / A/XII-5009-cn1..o, ! Page 8 / 32 
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Which of the following inhibits synthesis of cholesterol ? 

(A) Protease (B) Streptokinase

(C) Penicillin (D) Statin

18. � c♦,1�1'61 � �-� 1RR c4;t � ct;) cfqT � � ?

(A) 3d'6 eqtf.:t (B) ◄§.tl�lffidl

§}--- � t1!fi'ffidl (D) � Sfqtf-1

Capacity to generate a whole plant from a plant cell is called as 

(A) Tissue culture (B) Pluripotency

(C) Totipotency (D) Micropropagation

I 9. fteRtt.-t f4i::i�f&a· -itt..:iq-0 -ij- � fc+ieq;1 � i ? 

� 11W (B) �

(C) � (D) �

Hisardale is a breed of which of the following animals ? 

(A) Cow (B) Buffalo

(C) Sne�p (D) Chicken

20. f4i::t�f&a � � � ac+,;ftq; � � � � J.t1-ilc6 qj�(e s,R,utft lfl � '51TR

��'-ff? 

(A) ,:stqn_qtf.t Sl'11"1'1 (8) s,�faq,(Uj

(C) (1q,(Uj . (D) aidcfi (iqtf..t

Which of the following techniques was used to get yellow mosaic 

virus resistant mung lentil� 

(A) Mutatipn breeding (B) Introduction

(C) Hybridisation . (D) Tissue culture 
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21. �l{"1Q, � {§US, "ifiT TTlR � -� � .$��)q,°'R:ffie -ij � cliT cfil{Uj t, f:!c,_"4�
{slUS, 'q;T

(A) � �t�f11d � (B) tR � 1clf11e1 �
(C) �,�f11d � (D) c);n m � � � 3ucll11a �
Reason for movement of DNA fragments .. towards anode 1n
electrophoresis is DNA fragments being

. (A) Negatively charged
(B) Positively. charged
(C) Charged .
(D) Charged with charges of both types

22. �i:.t�f€1a -ij -a� ,flm -ij cfil�cfi (q1'1�Rtcfi) WR��-3-d(�l4l � i ?

� 11.�1ftcti1 ·

(C) , Slcfi�

(B) ��

(D) ��cfi (Ji'-4_cl)

Which of the following is not responsible for vegetative propagation. .

of plants?

. (A) Offset (B) Bulb

(C) Rhizome , (D) Gemmule -

23. Pti:.tfFtf€ia -ij -a �-m � � t ?

{A) . 41<�F?141 * 1flGT � � �3ltq;tt � �ft�<U � -t 

(B) � '3\fll�•ll�41 i

' .

� 
�rw,,a �, Ji� ��1-it.f � � saqcf, 1Rffi �

(D) c#i4i,,f.S)zi)::u1 jf 3i�ftteh � tl\Jti'1 ffi t

I 24 /A/ XII-5009-(38/40) I Page 10 / �2
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Which of the following statements is incorrect ? 

(A) Antheridia are present on antheridiophore of female thallus

of Marchantia

(B) Chara is ll)onoecious

(C) Diploid gene forms gamete after meiosis
. . 

{D) Zo·ospores are formed in Chlamydomonas

(A) • 

(D) . 41<�A�q

Which of the following plants is referred to as 'Terror of Bengal' ? 

(A) Water hyacinth (B) ·samboo

(C) Lantana (D) Parthenium

J!9-- lcftzq

(D) . aft-,iis �

Which of the following is not a part of microsporangium ? 
., 

• • + 

(A) Ehdothecium

(C) Epidermis

(B) · Tapetum

(D) Micropyle

26. 3fri{etifl-" � -q AJ:ifFIRta 'ij � � c6l�ic+it � � � 4NI<( � �

g,qcfi 1Ra''?

I 24 / A/XII-5009-(315/40) I Page 11 / 32 
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Which of the following cells di_vides to form two male gametes in
angiospermic plant?
(A) Vegetative cell (B) Generative cell
(C) Microspore mother cell (D) Microspore

27. Ai:.t�f&a -ij � � �-e�q � � � t ?
(A) � ciJ�l'-til (B) � ·

Which of the following is not associated with egg apparatus ? 

(A) Synergid (B) Egg

(Cl Antipoc:lal cells (D) Filiform apparatus

2s. l:fm � 1fr-ir -q s,!(,� (�le,q) � � � � ? 
. 

29. 

� \[?141q (B) ifl-ifq� .

(C) . -.IR �lq(OI (D) � 3W

Scutellum present in the seeds of grass is called

(A) Endosperm (8) Cotyledon

(C) Seed coat (D) Embryonal axis

�1-1-(.{tl��-1 � ,:N41frtdl � � ?

(A) o_a.q;1�eq1 � 3q=.:u( -q (B) �f?.4q, � 34-.:11( if

(C) "&tl'llcfi S11i1.f � � -q (D) .� 34-.:11(�

What is the use of alpha-1-antitrypsin ? 

(A} Iri treatment of emphysema 

(�) In treatment of asthma 

(C) As insecticidal protein

(D) In treatment of diabetes

I 24 / A/ Xll-5009-cn140, I 
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(C) PCR

Which of pie following methods is used for the amplification of 

nucleic acid ? 

(A) Transformation (B) · Transfection

(C) PCR (D) Micropropagation

31. �- pH � 4YIH8 q_fl-1fJtQ.W18 � � e�H�d· ibl&1i!tlcfi s;)tl-1 efi;4 m

,if@J ! ?

(A) �J.Hl4 pH (B) �itl4 pH

(C) 3Gi�.f pH JD}-� &i'clllf � � pH 

At what pH insecticidal protein synthesized by Bacillus

thuri.ngiensis becomes active ?

(A) Acidic pH

(B) Alkaline -pH

(C) Neutral pH

(D) First acidic then alkaline pH

32. d◄li � � � tl�f fq � es1,qu1 � UcR � �i(l( .. ({ ciqRtcfi(Oj cf;T 'Sfln1T �

� t fJteif t(�ff?I ��U! � � � ec:tl�cfi � � � t ?

f 24 / A/XIl-5009-,315/40t J Page 13 / 32 
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RNA interference is utilized to prevent nematode infestation in

tobacco plants. By which vector are nematode specific genes 

introduced ? 

(A) Bacteriophage {B) Retrovirus 

(C) Escherichia coli (D) Agrobacterium

� 
20 (B) 15

�-
27 (D) 5

How many varieties of Basmati rice are grown in India ? 

(A) 20 (B) 15 , 

(C) 27 (D) 5

34. Pti.tf8f&a -ij -a � ij1id..f �-�- �:Jelfl..f ecitfl � � �"l�cfidl -�

�-�- ��6���, �����·? 

(A) 

J9 

�� ... � sftmf?t� � (B) 

�.lJ(.lft. (D) 

Which of the following organizations makes decision regarding the 

validity of GM research and the -safety of introducing Gld 

organisms? 

(A) Department of Science and Technology

(B) Department of Biotechnology

(C) GEAC

(D) Indian Patent Office

' 24 / A/Xll-5009-(38/40) I Page 14 / j 
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35. (lq�q ft{� q;r � � l$f il ��l{j,,j "« W t ?

(A) q1f<�f<l4i'I JS}---- �q5"t,'>1fi'!<€1 

(C) mto snfflf (D) �ljcf�l4i'!

Name of Ramdeo Mishra 1s associated with which field of 
research? 

(A) Ecology · (B) Biotechnology

(C) Green revolution (D) Genetics

36. AJ.4� f&a il "« � -if1ql'!J� � � ck11'1cfiitl eq,�cf, � i ?

(A) � (B) �l�:S . ,

(C) pBR322 (D) it-:glt(,i((

Which of the following is not a cloning vector for bacteria ?

(A) · Bacteriophage (B) Plasmid

(C) pBR322 (D) T-DNA

37. A'4�f&d il-« �AA-« �qf,j-if :gl((-i(t °cf,)'�� 4>1�fcf,j � � il

3rcf:���t?

(A)· �jeq,cftl..f (B) (c\qj,-fj(Oj

(C) �lR (D) �� 3rcf:ffl .

Which of the following methods is used to -inject recombinant DNA

into nucleus of animal cell directly?

(A) Transfection · (B) Transformation

(C) Gene gun . (D) Microinjection

f 24/A/XII-5009-r3s/40) j Page 15 / 32
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38. �Q.-4\( - 'ft4iiRUi �IM¥�� d_Jit,ii � �\11�'1 � f?

For isolation of ONA a fungus is treated with which enzyme ? 

(A) Lysozyme

(C) ONase

(A) SIR'lfRI i'f 3eqR,

(C) t\-"Q,"41(

(B) Cellulase

(0) Chitinase

Which of the following is absent in pBR322 ? 

(A) Origin of replication (B) Restriction site

(C) T-ONA (0) Antibiotic resistant genes

40. � 111�6 � 1fi1 Pt�� .... lc;.1�11�.f Slilt<llft 7fR -q � � �,ffl :J�•IJ

C(,111�&�

(A)

(B) 

(C) 

(D) 1(14141�-. safttih, :;q1c:1 qJl\_(t �
--------,(-::2;-;:4:-:-/-:-A7/ x�1�1--==

5009
�· �.-t,.-,-_...,...I _____ Pa_ge_l_6_/�
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ff a foreign DNA is inserted in tetracycline resistant gene, the 

· recombinant plasmid 

(A) Will lose ampicillin resistance

(B) Will lose tetracycline resistance 

(C) Cloning would become easier

(D) Ampicillin resistance will become stronger

41. f.\A�f&d -ij � � �ci4i'!J � � .tl�-t� qjH)q)-,, � � � t?

(A) �1� �ft4'i (B) ffl (?l>f�ct>8

(C) �-il�tflfl\4'i (D) · -.fltft�cfllft41.

From which of the following bacteria, thermostable DNA 

polymerase is isolated ? 

(A) Agrobacterium (B) Therm.us aquaticus

(C) Methanobacterium (D) Archaebacteria

42.• A"'1�f&d -ij � � :;jflqf'!J cfill-tl�fcf> srlil-t ij�cl�d � i ? 

(A) · l(Ul� �l\41i . (B) ''8H8 �A➔fJJ�Y18

(C) �n_�41 � (D) a11ft�ctllfl41

Which of the following bacteria synthesizes insecticidal protein ? 

(A) Agrobacterium (B) Bacillus t.huringiensis

(C) Escherichia coli (D) Archaebacteria

(A) B-cf>)�icf>I (B) T-cf>)�lifii

$tfl��<k1 cf>)�lcfil (D) T-� cf>)�lifil
f 24 / A/XII-5009-(35/401 I . 
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HIV attacks on which of the following cells? 

(A) B-cells (B) T-cells

(C) EpitheliQ.l cell (D) T-helper cell

� �fl� � cfi I aff.l c+, � � cf;T, 1!GT � � � � ffl �
cb(:clldl t ?

(A) (!/10:S..f

(C) �

Going down of inorganic 

nutrients is called as 

(A) Fragmentation

(C) Catabolism

(A) 7 �f€i<H C, 

8---20-25 �f€t_q.f 

(B) f.t�

(D) '1(4'1Tf>t.f;�..f

water soluble nutrients into the soil 

(B) Leaching

(D) Humification

(B) 1 ·b fq�q..f

(D) 2 fq�<M

According to Robert May how much is the global species 

diversity? https://www.bsebstudy.com 

(A) . 7 million (B) 1 · 5 million

(C) 20-25 million (D) 2 million

(A) 2·4%
� 

· (B) 8· 1%. 

(C) 5% (D) 9%,
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Biodiversity of India is what percentage of the total global species 

diversity? 

(A} 2·4% 

(C) 5%

(C) 31ftr�

(B) 8·1%

(D) 9%

ft-. ��!#ft -iirfa41 cnr d4rM01 

{D) ,jfjqfellt �

What was the reason .for extinction of more than 200 species of 

Cichlid fish in Lake Victoria_? 

(A) Co-extinction

(C) Overexploitation

{B) Alien species invasi�n 

{D) Habitat loss 

� Jf}qj�q � cnT s,�,, 

(C) -ii.:ie&41 �w,)z

Which of the following is not the reason for global warming ? 

{A) · Use of fossil fuels

{B) Deforestation 

{C) Population explosion 

(D} Improvement in the efficiency of energy use 

f 24/ A/XII-5009-(311/40) J 

.https://www.bsebstudy.com 

Page 19 / 32 

Previous Pathshala



• 
49. 

I 

F-1'-'l�Qsaa -ij � �-m � � �-� iJ1t -ij � t? 

(D) (ll-lt<4f.tcfi ,3cl{cf,l cfiT �

I 119 l 

Which of the following statements 1s incorrect about organic 

farming? 

(A} It is cyclic 

(B) Zero wast� is generated

(C) Maximum utilization of resources

(D) Use of chemical fertilizers

(B) dNsh'4 ��qq_ � � � � c'fit � � t

(C). dl4shit J';:,i:u� � "G � t

(D) a1qs1,q � � �iijj( � � � t

I 24 / A/XJI-5009-iu,401 I 
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Which of the following statements is incorrect about temperature ?

(A) Temperature is the most important environmental factor

(B) Temperature decreases from the equator towards the pole

(C) Temperature increases with increase in height

(D) Temperature is low at the summit of a mountain

s 1. qjltJa rc.�""'1 (�) � f4cfi�d � � � sittfdcf> � � � � "CR 

��i? 

(A) �� (B) ijif� '0{

(C) ti!J�f;q � (D) qfl{�fdcfi l<R:.

At which level is natural selection operated to evolve . the desired

traits? 

(A) . Individual level

(C) Community level

(B) Population level

(D) Ecosystem level

s2. 1fJ;Jq elf��� �<tfTts q �-1fi, �-� � W�<_ � qtf � oqfwi4f 

ct>T s.fd:ttd st>if:fi: m �-qt 'dT � Sl�f.lfila � t � tiif� 

(B) 'Efi�t

(D) 

When percentage of individuals of pre-reproductive, reproductive 

and post-reproductive _phase is in decreasing order in the age 

pyramid of human population, it shows that population is 

(A) Expanding 

(C) Stable

(B)
°

Decreasing 

(D) Unstable

I 24 / A/XII-5009-ca1140t I Page 21 / 32 
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53. 

✓ I 

(A) Sl!(lid li�lel•itl<t.1 lfl1r-t qgeft � 11m

(D) �� 3Tilf

Which of the following reproduces once in a lifetime ? 

(A) Pacific salmon fish and bamboo

(B) Mammals

(C). Birds and mammals 

(D) Litchi ancl mango

(D) �

l 119 l

What was the reason for co-existence of five closely related species 

of warblers? 

(A) Competitive exclusion (�) Resource partitioning

(Cl Parasitism (D) ·· Commensalism

l 24 / A/XII-5009-(315/4'0) I_ Page 22 / 31
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55. f4q��<'I -ij � �-lfl � �-HI m 1H1$4>)t11$S � � t?

56. 

(A) -,cR.e {B) 4;H}?}fqe 

q;jq;} �(C)
� 

?tlllt

Which of the following plants produces poisonous cardiac 

glycoside? 

(A) Cactus (B) Calotropis

{C) Coffee plant (D) Tobacco

At.tfftf&a -q � � 34qf.fzc♦; � ?

(A) cfiqcfi � �qj("f (B) cfiqcfi � �q l'!J

(C) cfiqcf> � Jlcfl'!J (D) c+;qcfi, -iftcf 1'1 � �-

Which of the following ar� decomposers ? 

. (A) Fungi and algae 

(C) Fungi and bacteria

(B) Fungi and virus

. (D) Fungi, bacteria and virus 

57. � 51"'"1.fl � � q@ � � SN..t.fl � 1Ff q@ ((�ft.tq � � �

ecfi{Uf � q;("ft4�q, F 1 � 3H1afl � � eft m � Rt,ec+,1 3�it;{Uj t?

(B) 

f 24/A/XII-5009-(31/40, f Page 23 / 32 
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In a cross between true breeding �ed flowered and true breeding 

white flowered plants of Antirrhinum the F 1 generation was pink 

flowered which is an example of 

(A) Dominance

(B) Codominance

(C) Incomplete dominance

(D) Blending of contrasting forms of a character
I 

58. Pti.t�f&d il-« � � � t ?

(A) � qi) f.tqf{OI ihl<ih � �

(B). ihRciti fell� 'di � �

·(C) �� �l<ih�°il��

(D) 3tHl<."i qiJ 3fT(Rf -q �� � t

Which of the following statements is incorrect ? 

(Al -Characters are controlled by factors

(B) Factors are discrete

(C) In pea, factors are in �rs

(D) Alleles blend with each other

59. · �ci:r �q&{6"' � � cifiT ��,�� 3l1tm: � t ?

(A) Jfcill-'t cJ;T mi:tJSJJVJ � -g);n ··

(B) � � � - SJliih -� � � -� 1

(C) 3ieft(1 �,4' 1fT 3lSI\Ticft � � 1

(D) qt,<h\Jf I -q ,e,)�«fq � � .'7Di' -e �d� � � ciRti � 4. ��, •4�m�

-------7(-;2A4/jjA�/�X;;ll-;:-5:-:::0�09::----ta-s1-
40
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61. 

I 119 I 

What is the cytological basis of law of independent assortment ?

(A) There is no blending of alleles

(B) Alleles of a pair separate during gamete formation

(�) Alleles may be dominant or recessive 

(D) Pair of chromosomes arrange themselves 1n line

independently in metaphase I

ci�w,fa q;r st,)Jfle)q ltt4itt Pctie4 s,faqrRa � ? _

(A) � (B) -�� ci)4fl
. 

1fl1R ,.(C) (D) ffi;rr

Who propounded the chromosomal theory of inheritance ?

(A) · Mendel (B) Sutton and Boveri 
•

(C) Morgan (D) Henking

. �i:.tR-f ((§a q "R � st,)1(\e)Jfl� Pcf cfil( � i ?
. 

(A) sra;J flUj)q (B) #ll$-1<hR( fe41q

(C) . � fe�q (D) �141qi)R-f41

Which of the following is not a chromosomal disorder ? 

(A) Down's syndrome (B) .Klinefelter's syndrome

(C) Turner's syndrome (D) Haemophilia

62. g}l(-tl( cfiT X-�(OI Rfc:t=tf..t .&tfs,;41 Pcfie� � ?

(A) ��e Rf �;.e -� _<l-.itAAs §ict,�-1

�i:U(1IIQ; 

(C) i:412�M � P

(0) �

3- --------..,.., 2�4"'."""/'."""!'A�/�XI�I-�S�0 ..... 09 ..... --,3-S/-
40
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. · data of DNA ?

Who provided X-ray d1ffractl:on

(A) Maurice Wilkins & Rosalind Franklin

{B) Chargaff 

(C) Watson and Crick

(D) Holley

63. -�����q;J �&+,'(� �?

(A) J-\c:.ii'!J q;r 3113ci�lc6 � �0::-tO:: i

� �qi'!J q;r .:;flji4�1c6 � �0::-i({ t

(C) J-\c:.ii'!i -;J;T 3'113.i�ii:fi -� .:;fi(Q,-tO:: i

(D) �qi'!J q;r 3tljci�ic6 � &tl<Q_.\0:: t

l 1191

What was the conclusion of Hershey and Chase experiment ?

(A) Genetic material of bacteria is DNA ·

(B) Genetic material of virus is DNA

(C) . Genetic material of bacteria is RNA -

(D) .Genetic material o( virus is RNA

64. f.11:ffeillsia it�� eiuq-1 itil�-1 (c:fit4:tH cfi\g\-1) � t ? ·

(A) UAG

(C) AUG

J!!}. UGA. 

(J?)" • UAA

Which of the following is not a termination cod · ?. on. 

(A) UAG
(B) UGA

(C) AUG
(D) -UM

l 24 / A/XU-5009-13&/401 !
• 
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(A) fl-Jttcfttf 3TIR'OT 311{((.f� � � � cf;l �

(B) � 311<((➔� cf;1 <1�.0e1¥i � �

(C) �1<�-1� <f>T 31jcl(!).f

What is the meaning of charging oft-RNA? 

(A) Linking of amino acid with cognate ·t-RNA

(B) Attachment of t.:RNA with ribosome

(C) Translation of RNA

(D) Modification of RNA

(A) � (B) stclft4t

(C) � (D) ll�<tiills

Which of the following is a non-infectious disease? 

(A) AIDS

(C) Cane.er 

(B) Malaria

(D) Typhoid

Pfi:.t�f&d -q � � ffl> c61�iifil q;t lfi.�.�-�- � 1 ?

(A) �w;)e,,l (B) 4'�e,,l

(C) �fq;eJ (D) C(-tlM{t:t

[ 24/ A/XIl-5009-t31/40) I 
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70. 

Which of the following blood cells is known as PMNL ?

(A) Lymphocyte· (B) Monocyte

(C) · Neutrophil . (D) Platelets

(A) lgA (B} IgG

(C) lgM (D) lgD

Which of the following is abundantly found in colostrum ?

(A) lgA (B) IgG

(C) IgM. (D). IgD

sltt<(fefl<.-1 q 1cfa-1 cfqJ °t ?

(A) <ffi�-1 • (B) �(I�

(C) �"'1 I fil-11 $S (D) ..

What is diacetyl morphine ?

(A} Codeine· (B) Heroin

(C) Cannabinoid .(D) Coke

�sl<.-1 -qtta.:JVT � � � c€t' � � t. ?

(A) q(Olf\qj (B)' li�C6i"5 

(C) � (D) ..ct_ '11f.t '-t I

Which fever is confirmed by Widal �est ?
(A) Malaria (B) Typhoid

(J 

(C) AIDS (D) Pneumonia

l 24 / A/XII-5009-t3s/40lj
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� - 'If / SECTION - B

� dflft� � -/ Short Answer Type Question•
.'f/R HIJ41 l � 20 Rf!. 3fl/Jq f I Fi,;;/1' 10 w;d llr TT1r 'l' I UN¥ f;" �
a .3ic,; Ae1f fir1 t : 1 o x 2 • 20 

Question Nos. 1 to 20 ·are Short Ans�er Type. Answer any 10 question_s.
Each question carries 2 marks : 10 x 2 = 20

How are DNA fragments separated and isolated? 

1/ _ ELISA � t ?

3. 

4 .. 

5. 

6. 

7. 

8. 

· What is ELISA ?

What are the primary and secondary productivities ? 

What is Dobson unit ?

� (MOET)�t? 

What is MOET ? 

How is the name given to restri�tion e?donucleases ?• 

cf>l�lcfil JtUicHff �� � t ?

What is cell mediated immunity?

er$ckf1Wlfl-➔-� � i � ��c61 aq<fl,1 

What is cyclosporin-A. and what is its se?

. f 24 / A/XII-50Cii,;.?s�401 I 
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[ 119 I

�iilifii-1 (fqqi,.�f-'iu) � �sfii'!J i:hl�i�I� (Sll\ii� �qit�•-��) �
fl<fh�� :g,fil'!J cf))a1�(� (il�ostl �qi1(1l$<t1) � 1 ? 2 

What are spermatogonia, primary spermatocytes and secondary

spermatocytes ? 

1 o. tl'ff4ih,� •��4T � � ? � � ffl � � ?
. What are contraceptive pills ? How do they function ?

11. � tfl-itt'!J ttr.ft � e�.f I ctiT q$f cifit I

Describe the. structure of microsporangium.

12. fa-f4�:q-1 � ciql@U �I

Explain double fertilization.

2 

2 

2 

13. � � � � �l(cf,1 q;J "Sl\llcl i ? . 2 

What are the factors which affect population growth ?

14. 4<-ilc:ft ��.f '4it _cql(§QI cifitl 2 

Explain parasitic adaptations.

}5. il1•Hfil�41 � � � cfi_qi(�Gl � � (l�Ht) � cfln ffl t ? 2 
• � ,.. .. _.... t. •• 

• -

What is·· the rel�tionship between thorns of Bougainvillea and 
tendrils of Cucurbita? http_s://www.bsebstudy.com 

16. Ccll'"ilf!lfq cfit � Sl�,R,� ���I ¢f (i-l�•l�l) !iclf\41 � � �

Sl..illR, 3ij(Gllfl -g ? . 
• 

2

Name the different species of Plasmodium. Which species is

responsible for malignant malaria ? . ,,

17. ��ifflt? 2 
What is incomplete dominance ?

I 8. 3l1R 1IT cfiT lftR cM AB� fun c6T � cl'f O !, "ffl � � � 1ftR
iffl�? 2 
What would be the blood group of offspring, if the blood group 0

mother is AB and blood group of father is O ? 

24 / A/XII-5009-13&/401 Page 30 / 3 
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lfRcf ci�11c:4� fa�A"o' -ij �, �, � � � rm � � � � � � 
�I 2 

19. 

Draw the symbols used for male, female, mating and 

consanguineous mating in human pedigree analysis. 

2 

What are the. goals of Human Genome Project ?

� 3fHl4 1'R / Long Answer Type Questions 

'RR ti&.11 21 � 26 � Jflfl4 'f1R f I fcl,;jf 3 'R'Rf � 'JfR' � I Rr4¥ � fffl[ 

S .. Ai.iffirl t, � �fil¥rlll 120 �'It� ill�'! I 3 >< S = 15 

Question Nos. 21 to 26 are Long Answer Type Questions. Answer any 

3 questions. Each question carries 5 marks. Give your answer in about 

120.words. 3 x 5 = 15 

Explain the causes of biodiversity loss. 

22. f4RfHf©a CR� -Q�oft � :

(A) Cf>Jf\f))H-f �

(B) 

Write short notes on the following: 

(A) Phosphon\S cycle

(B) Primary immunity.

23. AR�f(!Jd 'CR � fl�oft � :

(A) t&t-iff

,a, tllFf« � oe,4Acfi e<f."'' 1 

f 24 / A/XJJ-5009-(315/401 I  
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Write short notes on the following: 

(A) Allergy

(B) Chemical composition of DNA.

24. � � q;y � 'tfn:fi3m � � � � � t?

How is gene of interest amplified by using PCR ?

5 

25. f.\q�fuid����: 2 X 2½ = 5 

(A) glQ_-1({ q;y � �l(({-1(( i\; � � -$41�1 ti � ?

(B) ,jiil3'<s1-1 � � <fR '1J1TT � �fttcfil � t ?

Answer the following questions 

(A) Sta�ility of DNA is higher than that of RNA. How ?

(B) What are the roles of three parts of transcription unit ?

26. f.:lq�fuid � �. R:utuft � :

(A) �d04Ui

(B) ,(,q1iiH ( ,jiTil�Jfl) I

Write brief notes on the following

(A) Implantation

(B) Autogamy.

2 X 2½ = 5 
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